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Question1:-Consider the following Social Reformers
1.    Ayyavu Swamikal
2.    Sahodaran K. Ayyappan
3.    R. Sankar
4.    Nithya Chaitanya Yati
Who of the above is/are actively associated with the SNDP yogam

��வ�� ச�க �����தவா�கைள� க����க�

1. அ�யா� �வா�க�

2. சேகாதர� ேக. அ�ய�ப�

3. R ச�க�

4. ��ய ைசத�ய ய�

ேம���யவ�க�� யா� SNDP ேயாக� உட� ��ரமாக ெதாட��ைடயவ�க�.

        A:-(1) and (2)

(1) ம��� (2)

        B:-(1), (2) and (3)

(1), (2) ம��� (3)

        C:-(2), (3) and (4)

(2), (3) ம��� (4)

        D:-(1), (2), (3) and (4)

(1), (2), (3) ம��� (4)

        Correct Answer:- Option-C

Question2:-Match List : I with List : II and select the correct answer with the help of
the code given below:
        List : I                                      List : II
(a)    Raja Ram Mohan Roy        (i)     Kesari
(b)    Annie Besant                    (ii)    Sambad Kaumudi
(c)    Kumaran Asan                  (iii)    The Common Weal
(d)    Bala Gangadhara Tilak      (iv)    Vivekodayam



ப��ய� Iஐ ப��ய� II உட� ெபா���, �ேழ ெகா��க�ப���ள ������ உத��ட�

ச�யான ப�ைல�  ேத��ெத��க��.

     ப��ய� I                                                  ப��ய� II

(a) ராஜா ரா� ேமாக� ரா�                    (i)    ேகச�

(b) அ�� ெபச��                                 (ii)   ச�ப�  ெகள��

(c) �மர� ஆசா�                                   (iii)  காம� ெவ�

(d) பால க�காதர �லக�                        (iv)  �ேவேகாதய�

        A:-(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

        B:-(a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

        C:-(a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

        D:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

        Correct Answer:- Option-D

Question3:-Arrange the following events chronologically:
(1)     Kallumala Samaram
(2)     Villuvandi Samaram
(3)     Aruvipuram Siva Prathishta
(4)     Vaikom Satyagraha

Select the correct answer from the code given below:

��வ�� �க��கைள காலவ�ைச�ப� வ�ைச�ப��த��

(1) க��மைல சமர�

(2) ���வ�� சமர�

(3) அ���ர� �வ�ர��ைட

(4) ைவ�க� ச��யா�ரஹ�

�ேழ ெகா��க�ப���ள ��������� ச�யான ப�ைல� ேத��ெத��க��.

        A:-(1), (2), (3), (4)

        B:-(4), (3), (2), (1)

        C:-(3), (2), (1), (4)

        D:-(3), (1), (2), (4)

        Correct Answer:- Option-C

Question4:-Which of the following is/are related to Sree Chithira Tirunal?
(1)    Introduced Free Universal and Compulsory Education
(2)    First Raj Pramukh of the Travancore-Cochin Union
(3)    Brilliant Music Composer
(4)    The first census of the state was conducted

Select the correct answer using the code given below:



��வ�வனவ��� ��  ���ர ��நா�ட� ெதாட��ைடய� எ�?

(1)  இலவச உலகளா�ய ம��� க�டாய� க�� அ��க�ப��த�ப�ட�

(2) ���தா���-ெகா�� ��ய�� �த� ரா� �ர��

(3) ���சா��தனமான இைசயைம�பாள�

(4) மா�ல��� �த� ம�க� ெதாைக கண�ெக��� நட�த�ப�ட�

�ேழ ெகா��க�ப���ள ����ைட� பய�ப��� ச�யான ப�ைல� ேத��ெத��க��.

        A:-(1) and (2) only

(1) ம��� (2)

        B:-(2) and (3) only

(2) ம��� (3)

        C:-(1), (2), (3)
(1), (2), (3)

        D:-(1), (2), (3) and (4)

(1), (2), (3) ம��� (4)

        Correct Answer:- Option-A

Question5:-Which of the following is/are related to the French Revolution?
(1)     A watershed movement in modern-history
(2)     The Siege of the Bastille
(3)     Jean - Jacques Rousseau is consider the Father of Revolution
(4)     Tennis Court Oath

Select the correct answer using the code given below:

��வ�வனவ��� எ� �ெர��� �ர���ட� ெதாட��ைடய�?

(1) ந�ன வரலா��� ஒ� ���ைல இய�க�

(2) பா��� ���ைக

(3) ��-ஜா�வ� �ேசா �ர���� த�ைதயாக� க�த�ப��றா�

(4) ெட��� ேகா�� உ��ெமா�

�ேழ ெகா��க�ப���ள ����ைட� பய�ப��� ச�யான ப�ைல� ேத��ெத��க��.

        A:-(1), (2) and (3)

(1), (2) ம��� (3)

        B:-(2), (3) and (4)

(2), (3) ம��� (4)

        C:-(4) only

(4) ம���



        D:-(1), (2), (3) and (4)

(1), (2), (3) ம��� (4)

        Correct Answer:- Option-D

Question6:-Current Director - General of Food and Agriculture Organisation.

த�ேபாைதய உண� ம��� �வசாய அைம��� ெபா� இய��ன�

        A:-Kristalina Georgieva

���ட�னா ஜா��வா

        B:-Qu Dongyu

�� டா��

        C:-Achim Steiner

அ��� �ெட�ன�

        D:-Sir John Boyd Orr.

ச� ஜா� பா�� ஓ�

        Correct Answer:- Option-B

Question7:-Which of the following statement is correct regarding the composition of
the earth's atmosphere?

���� வ�ம�டல��� கலைவ ெதாட�பாக ��வ�� ���க�� எ� ச�யான�

        A:-Oxygen, the most important gas present in the atmosphere is very active in
the chemical processes of the physical and biological environment

வ�ம�டல��� இ���� �க ���யமான வா�வான ஆ��ஜ�, உட� ம��� உ��ய�

�ழ�� ேவ��ய� ெசய�� அ�க ெசய�� உ�ள�

        B:-The most abundant gas in the atmosphere is Hydrogen

வ�ம�டல��� அ�க அள�� காண�ப�� வா� ைஹ�ரஜ� ஆ��

        C:-The three constant gases in the atmosphere are Carbondioxide, ozone and
water vapour

வ�ம�டல��� உ�ள ��� �ைலயான வா��க� கா�ப�ைடஆ�ைஸ�, ஓேசா�

ம��� �ரா�

        D:-Ozone is present in the troposphere

ஓேசா� �ேராேபா��ய�� உ�ள�

        Correct Answer:- Option-A

Question8:-An example for metamorphic rock is

உ�மா�ற� பாைற�� ஒ� உதாரண�

        A:-Granite

�ராைன�



        B:-Basalt

பசா��

        C:-Quartzite

�வா��ைச�

        D:-Limestone

��ணா���க�

        Correct Answer:- Option-C

Question9:-Which among the following terms denote the periodic rise and fall of
water level in the World's seas and oceans?

உல�� கட�க� ம��� ெப��கட�க�� �� ம�ட��� அ�வ�ேபா� உய�� ம���

����ைய ����� ெசா� எ�

        A:-Waves

அைலக�

        B:-Tides

ேபரைலக�

        C:-Currents

��ேனா�ட�க�

        D:-Wind Surge

கா�றைல

        Correct Answer:- Option-B

Question10:-The Bhakra Nangal multipurpose project is constructed on which river?

ப�ராந�க� ப�ேநா�� ��ட� எ�த ஆ��� க�ட�ப���ள�

        A:-Satluj

ச�ல�

        B:-Ganga

க�கா

        C:-Yamuna

ய�னா

        D:-Brahmaputra

�ர�ம���ரா

        Correct Answer:- Option-A

Question11:-The source of four rivers in Kerala is given. Which of the following is
correctly matched?

ேகரளா�� நா�� ந�க�� ஆதார�க� ெகா��க�ப���ள�. ��வ�வனவ��� எ�



ச�யாக ெபா����ற�

        A:-Periyar - Peerumedu Plateau

ெப�யா� - ��ேம� �ட��

        B:-Bharathapuzha - Anamalai hills

பாரத��ழா - ஆைனமைல

        C:-Kabbani - Agasthya hills

க�� - அக��ய மைல

        D:-Pamba - Sivagiri hills

ப�பா - �வ�� மைல

        Correct Answer:- Option-B

Question12:-The latest Earth observation satellite launched by ISRO on November
2022.

நவ�ப� 2022� இ�ேராவா� ஏவ�ப�ட ச�ப��ய �� க�கா��� ெசய�ைக ேகா�

        A:-EOS - 01

        B:-EOS - 03

        C:-EOS - 06

        D:-EOS - 04

        Correct Answer:- Option-C

Question13:-Consider the following statements regarding the Macroeconomic
Stabilization Measures of economic reform programme in 1991?
(i)    It includes all those economic policies which intend to boost the aggregate
demand in
       the economy.
(ii)   It includes all those policy reforms which have been initiated by the
government to
       boost the aggregate supply of goods and services in the economy.
(iii)  It includes policies for dismantling of the Administered Price Mechanism.

1991 இ� ெபா�ளாதார �����த� ��ட��� ேம�ேரா ெபா�ளாதார உ���ப��த�

நடவ��ைகக� ெதாட�பான ��வ�� அ��ைககைள� கவ���க�.

i.  ெமா�த� ேதைவைய  அ�க��க உ�ேத����ள அைன��� ெபா�ளாதார�  

    ெகா�ைகக�� இ�� அட��� 

ii. ெபா�ளாதார��� ெபா��க� ம��� ேசைவக�� ெமா�த ��ேயாக�ைத

    அ�க��க அரசா�க�தா� ெதாட�க�ப�ட அைன�� ெகா�ைக �����த�க��

    இ�� அட���

iii. இ� ��வ��க�ப�ட �ைல இய��ர�ைத அக��வத�கான ெகா�ைககைள

    உ�ளட��ய�



        A:-Only (i) and (ii)

(i) ம��� (ii) ம���

        B:-Only (i)

(i) ம���

        C:-Only (ii)

(ii) ம���

        D:-Only (ii) and (iii)

(ii) ம��� (iii)  ம���

        Correct Answer:- Option-B

Question14:-Consider the following statements on Green Revolution in India:
(i)     Green Revolution led to environmental degradation.
(ii)    Green Revolution enabled India to became self sufficient in food grains and
exporter of
        agricultural commodities.
(iii)   Initially Green Revolution was mainly directed to increase the production of
commercial
        crops only.
(iv)   Green Revolution resulted in growing interpersonal inequalities and inter
regional
        disparities in India.
Which of the above statements is/are correct?

இ��யா�� ப�ைம� �ர�� ப��ய ��வ�� அ��ைககைள� கவ���க�:

i.  ப�ைம� �ர�� �����ழ� �ர���� வ�வ��த�

ii. ப�ைம� �ர��யான� உண� தா�ய�க� ம��� ேவளா� ெபா��க�

    ஏ��ம��� இ��யா த��ைற� அைடய� ெச�த�

iii. ஆர�ப��� ப�ைம� �ர�� ���யமான வ�க ப�� உ�ப��ைய ம���

    அ�க��க இய�க�ப�ட�

iv. ப�ைம� �ர���� �ைளவாக இ��யா�� த�நப� ஏ�ற�தா��க� ம���

    �ரா��ய�க��� இைடேயயான ேவ�பா�க� வள��� வ���றன.

ேமேல உ�ள ���க�� எ�/எைவ ச�யான�

        A:-Only (i), (ii) and (iv)

(i), (ii) ம��� (iv) ம���

        B:-Only (ii)

(ii) ம���

        C:-Only (i), (ii)

(i), (ii) ம���

        D:-Only (iii)



(iii) ம���

        Correct Answer:- Option-A

Question15:-Which of the following is/are the schemes launched in India with a
vision of extending the coverage of irrigation and ensuring more crop per drop of
water in agriculture?
(i)    Paramparagat Krishi Vikas Yojana
(ii)   Pradhan Mantri Krishi Sinchayee Yojana
(iii)  Pradhan mantri Fasal Bima Yojana
(iv)  Biotech Kisan Scheme

���க�டவ��� எ�/எைவ இ��யா�� பாசன� பர�ைப ���ப���த� ம���

�வசாய��� ஒ� ெசா�� த����� அ�க �ைள�சைல உ�� ெச��� ேநா��ட�

ெதாட�க�ப�ட ��ட�க�?

i. பர�பரக� ��� �கா� ேயாஜனா

ii. �ரதா� ம��� ��� ��ச� ேயாஜனா

iii. �ராத� ம��� ஃபச� �மா ேயாஜனா

iv. பேயாெட� �சா� ��ட�

        A:-Only (i) and (iv)

(i) ம��� (iv) ம���

        B:-Only (i)

(i) ம���

        C:-Only (ii)

(ii) ம���

        D:-Only (ii) and (iii)

(ii) ம��� (iii) ம���

        Correct Answer:- Option-C

Question16:-Which of the following statements is/are correct about GST?
(i)     GST is multistage destination based tax.
(ii)    Import of goods or services would be treated as interstate supplies and would
be
        subject to Integrated GST.
(iii)   GST will mitigate the ill effects of cascading of taxes.
(iv)   Prime Minister of India is the chairman of GST Council.

�எ�� ப�� ��வ�� அ��ைகக�� எ�/எைவ ச�யான�?

i.  �எ�� எ�ப� பல க�ட இல�� அ��பைட�லான வ�

ii. ெபா��க� அ�ல� ேசைவக�� இற��ம�யான� மா�ல�க��� இைடேயயான

��ேயாக�களாக� க�த�ப�� ம��� ஒ���ைண�த �எ���� உ�ப�ட�



iii. �எ��, வ�க�� ������ �ய �ைள�கைள� த���ற�

iv. இ��ய� �ரதம� �எ�� க����� தைலவ�

        A:-Only (i)

(i) ம���

        B:-Only (i), (ii) and (iv)

(i), (ii) ம��� (iv) ம���

        C:-Only (ii) and (iii)

(ii) ம��� (iii) ம���

        D:-Only (i), (ii) and (iii)

(i), (ii) ம��� (iii) ம���

        Correct Answer:- Option-D

Question17:-Which of the following is/are wasting assets?
(i)     Minerals
(ii)    Solar and Wind energy
(iii)   Forest and Wildlife
(iv)   Water

��வ�வனவ��� எ�/எைவ ெசா�ைத �ணா���ற�?

i.  க�ம�க�

ii. ��ய ம��� கா�� ஆ�ற�

iii. கா� ம��� வன�ல��

iv. ��

        A:-Only (i)

(i) ம���

        B:-Only (ii) and (iv)

(ii) ம��� (iv) ம���

        C:-Only (iii)

(iii) ம���

        D:-All the above (i), (ii), (iii) and (iv)

ேமேல உ�ள அைன��� (i), (ii), (iii), (iv)

        Correct Answer:- Option-A

Question18:-Which of the following is/are a NITI Aayog initiative under Aspirational
Districts programme aims to provide home care to COVID 19 patients?
(i)     Saksham Bitiyan Abhiyan
(ii)    Surakshit Hum Surakshit Tum
(iii)   Pradhan Mantri Suraksha Bima Yojana
(iv)   Ayushman Sahakar Scheme



��வ�வனவ��� எ�/எைவ ஆ��ேரஷன� ������� ��ட��� �� ஒ� NITI

ஆேயா� �� �ய��யான� COVID 19 ேநாயா�க��� ���� பராம��� வழ��வைத

ேநா�கமாக� ெகா���ள�?

i. ச�� ��யா� அ�யா�

ii. �ர�� ஹ� �ர�� �� 

iii.�ரதா� ம��� �ர�ா �மா ேயாஜனா

iv. ஆ��மா� சகக� ��ட�

        A:-Only (i) and (ii)

(i) ம��� (ii) ம���

        B:-Only (ii)

(ii) ம���

        C:-Only (iii) and (iv)

(iii) ம��� (iv) ம���

        D:-Only (iv)

(iv) ம���

        Correct Answer:- Option-B

Question19:-Identify the true statements with regard to the fundamental rights in
Indian Constitution
(1)     Article 14 is available only to citizen of India
(2)     Article 19 is available to any person on the soil of India
(3)     Article 25 is available to any person on the soil of India
(4)     Article 28 is available to any person on the soil of India

இ��ய அர�யலைம��� உ�ள அ��பைட உ�ைமக� ெதாட�பான உ�ைம

அ��ைககைள அைடயாள� காண��

1. ��� 14 இ��ய ��மக��� ம��ேம �ைட���

2. ��� 19 இ��ய ம��� உ�ள எவ���� �ைட���

3. ��� 25 இ��ய ம��� உ�ள எவ���� �ைட���

4. ��� 28 இ��ய ம��� உ�ள எவ���� �ைட���

        A:-(1) and (2)

(1) ம��� (2)

        B:-(2) and (4)

(2) ம��� (4)

        C:-(1) and (4)



(1) ம��� (4)

        D:-(3) and (4)

(3) ம��� (4)

        Correct Answer:- Option-D

Question20:-The establishment of All India Khadi and Village Industries Board is
related to -

அ�ல இ��ய கா� ம��� �ராம� ெதா�� வா�ய�ைத ���வ� ெதாட�பான�

        A:-Article 40 of Indian Constitution

இ��ய அர�யலைம��� ��� 40

        B:-Article 42 of Indian Constitution

இ��ய அர�யலைம��� ��� 42

        C:-Article 43 of Indian Constitution

இ��ய அர�யலைம��� ��� 43

        D:-Article 45 of Indian Constitution

இ��ய அர�யலைம��� ��� 45

        Correct Answer:- Option-C

Question21:-Which among the following is a ground for impeachment of the
President of India?

��வ�வனவ��� எ� இ��ய ஜனா�ப�ைய பத� ��க� ெச�வத�கான காரண�?

        A:-Violation of the constitution

அர�யலைம��� �ற�

        B:-No Confidence of the legislature

ச�டம�ற��� �� ந���ைக இ�ைல

        C:-Dissatisfaction with the cabinet

அைம�சரைவ �� அ����

        D:-All of the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-A

Question22:-Find out the wrong statement with regard to the office of Governor
(1)    Governor is a part of state legislature
(2)    Governor has powet to appoint judges of state high court
(3)    Governor has power to nominate members to state legislature
(4)    Governor has power to appoint his council of ministers

கவ�ன� அ�வலக� ெதாட�பான தவறான அ��ைகைய� க�ட�ய��

1. ஆ�ந� மா�ல ச�டம�ற��� ஒ� ப��



2. மா�ல உய� ��ம�ற ��ப�கைள �ய��க ஆ�ந��� அ�கார� உ�ள�

3. மா�ல ச�ட� ேபரைவ�� உ���ன�கைள �ய��க ஆ�ந��� அ�கார� உ�ள�

4. தன� ம��� சைபைய �ய��க ஆ�ந��� அ�கார� உ�ள�

        A:-(1)

        B:-(2)

        C:-(3)

        D:-(4)

        Correct Answer:- Option-B

Question23:-Who among the following is the Chairperson of GST Council?

��வ�வனவ��� �எ�� க����� தைலவ� யா�?

        A:-Prime Minister of India

இ��ய� �ரதம�

        B:-Finance Minister of India

இ��ய �� அைம�ச�

        C:-Union Minister of State (Finance)

மா�ல இைண அைம�ச� (��)

        D:-A person elected from the members of GST council

�எ�� க���� உ���ன�க�� இ��� ேத��ெத��க�ப�ட ஒ�வ�

        Correct Answer:- Option-B

Question24:-In which year the special status of Jammu and Kashmir was revoked?

எ�த ஆ�� ஜ�� கா���� �ற�� அ�த�� ர�� ெச�ய�ப�ட�?

        A:-2017

        B:-2018

        C:-2019

        D:-2020

        Correct Answer:- Option-C

Question25:-Name the rescue operation of Kerala police during Kerala floods 2018.

ேகரளா ெவ�ள� 2018-� ேபா� ேகரள காவ��ைற�� ��� நடவ��ைக ெபயைர�

����ட��

        A:-Operation Jalaraksha

ஆபேரஷ� ஜலர��ா

        B:-Operation Rahath

ஆபேரஷ� ராஹ�

        C:-Operation Karuna



ஆபேரஷ� க�ணா

        D:-Operation Madad

ஆபேரஷ� மாட�

        Correct Answer:- Option-A

Question26:-________ is a unified mobile app developed by Kerala State IT Mission
that offer 100 e-services from 17 different state departments?

________ எ�ப� ேகரள மா�ல தகவ� ெதா�� ��ப இய�க�தா� உ�வா�க�ப�ட ஒ�

ஒ���ைண�த ெமாைப� ெசய� ஆ��. இ� 17 ெவ�ேவ� மா�ல� �ைறக�����

100 e-ேசைவகைள வழ���ற�.

        A:-MAPATHON Kerala

MAPATHON ேகரளா

        B:-MKeralam
MKeralam

        C:-ESMS
ESMS

        D:-GIMS
GIMS

        Correct Answer:- Option-B

Question27:-Doctrine of ________ is responsible for judicial control over
administrative actions.

________  ேகா�பா� ��வாக நடவ��ைகக�� �தான ����ைற க���பா����

ெபா��பா��.

        A:-Judicial Review

����ைற ஆ��

        B:-Rule of Law

ச�ட��� ��

        C:-Delegated Legislation

�ர�����வ ச�ட�

        D:-Separation of Powers

அ�கார�கைள� ���த�

        Correct Answer:- Option-B

Question28:-Official Language Legislative Commission is situated at

அ�கார���வ ெமா� ச�ட ஆைணய� அைம���ள�

        A:-Kollam

ெகா�ல�



        B:-Pathanamthitta

ப�தன���டா

        C:-Thiruvananthapuram

��வன�த�ர�

        D:-Kozhikode

ேகா��ேகா�

        Correct Answer:- Option-C

Question29:-Institute for Watershed Development and Management Kerala is
situated at _______.

ேகரளா�� ���ைல ேம�பா� ம��� ேமலா�ைம ��வன� அைம���ள�

        A:-Ottapalam

ஒ�ட�பால�

        B:-Chadayamangalam

சைடயம�கல�

        C:-Varapuzha

வர�ழா

        D:-Pappinaseri

பா��� ேச�

        Correct Answer:- Option-B

Question30:-On which of the following grounds, the validity of delegated legislation
cannot be challenged?

��க�ட எ�த அ��பைட��, �ர�����வ ச�ட��� ெச��ப�ைய சவா� ெச�ய

��யா�?

        A:-Unreasonableness

�யாயம�ற த�ைம

        B:-Arbitrariness

த���ைசயான�

        C:-Malafides

மாலாஃைப�க�

        D:-Violation of the principles of natural justice

இய�ைக ���� ெகா�ைககைள ��த�

        Correct Answer:- Option-D

Question31:-Name the project started by the Kerala government for the
rehabilitation of unwed mothers and their children.

��மணமாகாத தா�மா�க� ம��� அவ�க�� �ழ�ைதக� ம�வா���காக ேகரள அர�



ெதாட����ள ��ட��� ெபயைர� ����ட��.

        A:-Snehita

�ேந�தா

        B:-Snehasparsham

�ேநக�ப�ஷ�

        C:-Asraya

அ�ரயா

        D:-Snehahastham

�ேநகஹ�த�

        Correct Answer:- Option-B

Question32:-The present chairman of Kerala State Administrative Tribunal

ேகரள மா�ல ��வாக ���பாய��� த�ேபாைதய தைலவ�

        A:-C.K. Abdul Rehim

C.K. அ��� ெர��

        B:-P.K. Keshavan

P.K. ேகசவ�

        C:-M.K. Zakir

M.K. ஜா��

        D:-Benny Varghese

ெப�� வ���

        Correct Answer:- Option-A

Question33:-Name the health insurance plan and accident death coverage for the
guest workers in Kerala.

ேகரளா�� உ�ள ����ன� ெதா�லாள�க��கான உட�நல� கா����� ��ட� ம���

�ப�� இற�� கவேர� ஆ�யவ�ைற� ����ட��.

        A:-Niyukti

����

        B:-Kaivalya

ைகவ�யா

        C:-Awas

ஆவா�

        D:-Ayush

ஆ��

        Correct Answer:- Option-C



Question34:-In 2005 a new employment availability scheme has subsumed the
Food for Work programme in rural India. Which was that programme?

2005 இ� ஒ� ��ய ேவைல வா���� ��ட� �ராம��ற இ��யா�� ேவைல�கான

உண�� ��ட�ைத உ�ளட��ய�. அ�த �க��� எ�?

        A:-SRGY

        B:-RLEGP

        C:-TRYSEM

        D:-MGNREGA

        Correct Answer:- Option-D

Question35:-The Protection of Women from Domestic Violence Act was enacted in
the year

���ப வ��ைற����� ெப�கைள� பா�கா��� ச�ட� இய�ற�ப�ட ஆ��

        A:-2004

        B:-2005

        C:-2006

        D:-2007

        Correct Answer:- Option-B

Question36:-The first Kudumbasree neighbourhood group for transgenders in Kerala
is known as

ேகரளா�� ��ந�ைகக��கான �த� ���ப�� அ�ைட� �� என அைழ�க�ப�வ�?

        A:-Thelima

ெத�மா

        B:-Thalir

த��

        C:-Mazaville

மசா��ேல

        D:-Manaswini

மன���

        Correct Answer:- Option-D

Question37:-Which statement is incorrect?

எ�த அ��ைக தவறான�?

        A:-Cholera is caused by a bacterium

காலரா ஒ� பா���ய�தா� ஏ�ப��ற�

        B:-Measles is caused by a virus

த�ட�ைம ஒ� ைவரஸா� ஏ�ப��ற�



        C:-Malaria is caused by a bacterium

மேல�யா ஒ� பா���ய�தா� ஏ�ப��ற�

        D:-Ringworm infection is caused by a fungus

��ேவா�� ெதா�� ஒ� ��ைசயா� ஏ�ப��ற�

        Correct Answer:- Option-C

Question38:-"Umami" is a

''Umami'' எ�ப� ஒ�

        A:-Part of cerebellum

���ைள�� ப��

        B:-Sense of taste

�ைவ உண��

        C:-Retinal ganglion

ெர��ன� ேக���ய�

        D:-Muscle stretch reflex

தைச ����� �ஃ�ெள��

        Correct Answer:- Option-B

Question39:-Read the statements given below and identify the correct option.
(i)    Rickets in man is due to the deficiency of calciferol
(ii)   Perinicious anemia in man is due to the deficiency of cynacobalamin
(iii)  Pellagra in man is due to the deficiency of retinol
(iv)  Beriberi in man is due to deficiency of Vitamin .

�ேழ ெகா��க�ப���ள அ��ைககைள� ப���, ச�யான ���ப�ைத அைடயாள�

காண��.

i.  கா��ஃெபரா� �ைறபா� காரணமாக ம�த��� ��ெக�� ஏ�ப��ற�

ii. ம�த��� ெப���ய� அ��யா, ைசனேகாபால�� �ைறபா�டா�

    ஏ�ப��ற�

iii. ம�த��� ெப�லா�ரா, ெர��ேனா� �ைறபா� காரணமாக ஏ�ப��ற�

iv. ைவ�ட�� �1 �ைறபா� காரணமாக ம�த��� ெப�ெப� ஏ�ப��ற�

        A:-All are correct

அைன��� ச�யானைவ

        B:-Only (i) is correct

(i) ம��ேம ச�யான�

        C:-(i), (ii) and (iv) are correct

(i), (ii) ம��� (iv) ச�யானைவ



        D:-Only (iii) is correct

(iii) ம��ேம ச�யான�

        Correct Answer:- Option-C

Question40:-Gigantism is a condition

�கா��ச� எ�ப� ஒ� �ப�தைன

        A:-Caused by excessive secretion of somatotropin

ேசாமாேடா�ேரா�� அ�கமாக �ர�பதா� ஏ�ப��ற�

        B:-Caused by hyposecretion of TSH

TSH இ� ைஹ�ேபாெச��ஷனா� ஏ�ப��ற�

        C:-Caused by excessive secretion of Prolactin

�ேராலா��� அ�கமாக �ர�பதா� ஏ�ப��ற�

        D:-Caused by excessive secretion of gonadotropin

ேகானாேடா�ேரா�� அ�கமாக �ர�பதா� ஏ�ப��ற�

        Correct Answer:- Option-A

Question41:-From the following identify the green house gas.

��வ�வனவ������ ப�ைம இ�ல வா�ைவ அைடயாள� காண��

        A:-Helium

��ய�

        B:-Oxygen

ஆ��ஜ�

        C:-Methane

��ேத�

        D:-Sulfur Oxide

ச�ப� ஆ�ைச�

        Correct Answer:- Option-C

Question42:-Normal systolic pressure of a healthy person is

ஆேரா��யமான நப�� இய�பான ��டா�� அ��த�

        A:-80 mm Hg

80 �� எ��

        B:-100 mm Hg

100 �� எ��

        C:-180 mm Hg

180 �� எ��

        D:-120 mm Hg



120 �� எ��

        Correct Answer:- Option-D

Question43:-Svante Paabo got nobel prize in Physiology 2022 for discovery of

Svante paabo 2022 ஆ� ஆ���கான உட�ய� ேநாப� ப�ைச ________

க�����தத�காக ெப�றா�.

        A:-Receptors for temperature and touch

ெவ�ப�ைல ம��� ெதா�த��கான ஏ��க�

        B:-Hepatitis C virus

ெஹபைட�� � ைவர�

        C:-Previously unknown hominin, Denisova

��� அ�ய�படாத ேஹா���, ெட�ேசாவா

        D:-How cell sense and adapt to oxygen availability

ெச� உண�த� ம��� ஆ��ஜ� �ைட��� த�ைம

        Correct Answer:- Option-C

Question44:-'Break the chain' campaign is related to prevent the spread of

'�ேர� � ெச��' �ர�சார� ___________ பர�வைத� த��ப� ெதாட�பான�.

        A:-Rabies virus

ேர�� ைவர�

        B:-Monkey pox virus

ம�� பா�� ைவர�

        C:-Hepatitis B virus

ெஹபைட�� � ைவர�

        D:-None of these

இைவ எ��� இ�ைல

        Correct Answer:- Option-D

Question45:-Which among the following universal constants has the dimensions of
angular momentum?

��வ�� உலகளா�ய மா��க�� எ� ேகாண உ�த��� ப�மாண�கைள�

ெகா���ள�?

        A:-The velocity of light

ஒ��� �ைச ேவக�

        B:-The Boltzmann's constant

ேபா���ேம�� மா��

        C:-The Plank's constant



�ளா� மா��

        D:-The Bohr magneton

ேபா� கா�தக�

        Correct Answer:- Option-C

Question46:-Light exhibits both the wave-like and particle-like characteristics. The
particle nature of light is revealed in ________.

ஒ�, அைல ேபா�ற ம��� �க� ேபா�ற இ� ப��கைள ெவ��ப����ற�. ஒ���

�க� இய�� ெவ��ப��த�ப�வ�

        A:-Polarization

��வ�ப��த�

        B:-Photoelectric effect

ஒ��� �ைள�

        C:-Kerr effect

ெக� �ைள�

        D:-Interference

�����

        Correct Answer:- Option-B

Question47:-Let "F" be the gravitational force of attraction between two objects.
What will be the gravitational force between these two objects if the mass of one
object is doubled and the distance between them is reduces to half of its initial
value?

"F" எ�ப� இர�� ெபா��க��� இைடேய உ�ள ஈ��� �ைசயாக இ��க���. ஒ�

ெபா��� �ைற இர���பா�, அவ����ைடேயயான �ர� அத� ஆர�ப ம����

பா�யாக� �ைற�தா�, இ�த இர�� ெபா��க���� இைடேய உ�ள ஈ��� �ைச

எ�னவாக இ����?

        A:-2F

        B:-4F

        C:-8F

        D:-16F

        Correct Answer:- Option-C

Question48:-The India based Neutrino Observatory project (INO) is proposed in
2019. In which place the INO research facilities are established?

இ��யாைவ அ��பைடயாக� ெகா�ட ����ேனா க�கா��� ��ட� (INO), 2019 இ�

��ெமா�ய�ப�ட�. எ�த இட��� INO ஆரா��� வச�க� ஏ�ப��த�ப���ளன

        A:-Theni, Tamilnadu



ேத�, த��நா�

        B:-Kotta, Rajasthan

ேகா�டா, ராஜ�தா�

        C:-BARC, Mumbai

BARC, ��ைப

        D:-Mount Abu, Rajasthan

ம��� அ�, ராஜ�தா�

        Correct Answer:- Option-A

Question49:-Which of the following electronic configuration does not obey Hunds
rule of maximum multiplicity?

��வ�� எல��ரா�� உ�ளைம�க�� அ�கப�ச� ஹ��� ப��க�த�ைம �����

���ப�வ��ைல

        A:-

        B:-

        C:-

        D:-

        Correct Answer:- Option-B

Question50:-Elements with outer electronic configuration  are

ெவ���ற ��ன� க�டைம�� ெகா�ட த�ம�

        A:-Alkaline earth metals

கார �� உேலாக�க�

        B:-Transition elements

மா�த� ��க�

        C:-Chalcogens

சா�ேகாஜ�க�

        D:-Noble gases

உ�னத வா��க�

        Correct Answer:- Option-D

Question51:-Which statement is correct?

எ�த ��� ச�யான�?

        A:-  is a strong base

  ஒ� வ�வான கார�

        B:-  gives acidic solution in water



  த���� அ�ல� கைரசைல அ���ற�

        C:-  is a weak acid

 ஒ� பல�னமான அ�ல�

        D:-  gives alkaline solutino in water

 த���� கார� கைரசைல அ���ற�

        Correct Answer:- Option-C

Question52:-Nobel Prize winners in chemistry 2022

ேவ��ய�� 2022-� ேநாப� ப�� ெப�றவ�க�

        A:-K. Barry Sharpless

ேக.பா� ஷா��ெல�

        B:-Morten Meldal

ேமா�ட� ெம�ட�

        C:-Carolyn R Bertozzi

கேரா�� R ெப�ேடா�

        D:-All of the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question53:-What is the theme of Kochi-Muziris Beinnale 2022?

ெகா��-���� ைபனாேல 2022 இ� �� எ�ன?

        A:-Possibilities for a Non-Alienated Life

அ��யமாகாத வா��ைக�கான சா��ய�க�

        B:-In Our Blood Flow Ink and Fire

எ�க� இர�த ஓ�ட��� ைம ம��� ெந��� பா��ற�

        C:-In Your Veins Flow Ink and Fire

உ�க� நர��க�� ைம ம��� ெந��� பா��ற�

        D:-In our Veins Flow Ink and Fire

நம� நர��க�� ைம ம��� ெந��� பா��ற�

        Correct Answer:- Option-D

Question54:-PT Usha became the President of which sports organization in
December 2022?

�� உஷா 2022 �ச�ப�� எ�த �ைளயா��  அைம��� தைலவரானா�?

        A:-Athletic Federation of India

இ��ய தடகள ��டைம��

        B:-Sports Authority of India



இ��ய �ைளயா�� ஆைணய�

        C:-Indian Olympic Association

இ��ய ஒ���� ச�க�

        D:-Olympic Association in India

இ��யா�� ஒ���� ச�க�

        Correct Answer:- Option-C

Question55:-Tomb of Sand, a novel, won which of the following awards?

Tomb of Sand ஒ� நாவ�, ��வ�� எ�த ��ைத ெவ�ற�?

        A:-International Booker Prize 2022

ச�வேதச ��க� ப�� 2022

        B:-International Booker Prize 2021

ச�வேதச ��க� ப�� 2021

        C:-Booker Prize 2022

��க� ப�� 2022

        D:-JCB Prize for Literature 2022

இல��ய���கான JCB ப�� 2022

        Correct Answer:- Option-A

Question56:-Which of the following is correct with regard to India's first Metro
Railway?

இ��யா�� �த� ெம�ேரா ர�� ெதாட�பாக ��வ�வனவ��� எ� ச�யான� ?

        A:-New Delhi 1982

��ெட�� 1982

        B:-Kolkata 1984

ெகா�க�தா 1984

        C:-Mumbai 1982

��ைப 1982

        D:-New Delhi 1967

��ெட�� 1967

        Correct Answer:- Option-B

Question57:-When was Malayala Aikyavedi established?

மைலயாள ஐ��யேவ� எ�ேபா� ��வ�ப�ட�?

        A:-November 2009

நவ�ப� 2009

        B:-October 2010



அ�ேடாப� 2010

        C:-October 2009

அ�ேடாப� 2009

        D:-February 2009

��ரவ� 2009

        Correct Answer:- Option-A

Question58:-Which of the following is true?

��வ�வனவ��� எ� உ�ைம?

        A:-Email addresses are not case sensitive but email passwords are case
sensitive

��ன�ச� �கவ�க� ேக� ெச����� அ�ல ஆனா� ��ன�ச� கட��ெசா�க� ேக�

ெச�����

        B:-Email addresses and email passwords are case sensitive

��ன�ச� �கவ�க� ம���  ��ன�ச� கட��ெசா�க� ேக� ெச�����

        C:-Email addresses and email passwords are not case sensitive

��ன�ச� �கவ�க� ம��� ��ன�ச� கட��ெசா�க� ேக� ெச����� அ�ல

        D:-Email addresses and email passwords need special characters

��ன�ச� �கவ�க� ம��� ��ன�ச� கட��ெசா�க��� �ற�� எ���க� ேதைவ

        Correct Answer:- Option-A

Question59:-What does Anthropocene refer to?

ஆ��ேராேபா�� எைத� ����ற�?

        A:-It is another name for anthropology.

இ� மா�ட�ய�� ம�ெறா� ெபய�

        B:-It refers to the study of human extinction.

இ� ம�த அ�� ப��ய ஆ�ைவ� ����ற�

        C:-It is the current geological age in which human activity changes
environment.

ம�த ெசய�பா�க� �����ழைல மா��� த�ேபாைதய ���ய� �க�

        D:-It is the name of a film by Hitchcock.

இ� ���கா��� ஒ� பட��� ெபய�

        Correct Answer:- Option-C

Question60:-From the following devices, which one is not a pointing device?

��வ�� சாதன�க�� எ� ����கா��� சாதன� அ�ல?

        A:-Mouse



ம��

        B:-Joystick

ஜா����

        C:-Digitizer Tablet

��ைடச� ேட�ெல�

        D:-Light Pen

ைல� ேபனா

        Correct Answer:- Option-C

Question61:-Process of reading data from permanent memory and writing it to
computer's main memory is called

�ர�தர �ைனவக������ தரைவ� ப��� க���� ���ய �ைனவக��� எ���

ெசய��ைற அைழ�க�ப�வ�

        A:-Saving the data

தரைவ� ேச��த�

        B:-Loading the data

தரைவ ஏ��த�

        C:-Writing the data

தரைவ எ��த�

        D:-Reading the data

தரைவ� ப��த�

        Correct Answer:- Option-B

Question62:-Identify the protocol primarily used for browsing data in Internet.

இைணய��� தர�கைள உலா�வத�� �த�ைமயாக� பய�ப��த�ப�� ெந��ைறைய

அைடயாள� காண��

        A:-FTP

        B:-TCP

        C:-TFTP

        D:-HTTP

        Correct Answer:- Option-D

Question63:-Machine learning is a subset of ________.

இய��ர க�ற� எ�ப� ஒ� ________� ஒ� �ைண���.

        A:-Deep learning

ஆ��த க�ற�

        B:-Artificial Intelligence



ெசய�ைக ��ண��

        C:-Computer Vision

க�� பா�ைவ

        D:-None of the above

ேமேல எ��� இ�ைல

        Correct Answer:- Option-B

Question64:-Choose the language which is best suited for data science:

தர� அ��ய��� �க�� ெபா��தமான ெமா�ைய� ேத��ெத��க :

        A:-PHP

        B:-PASCAL

        C:-R

        D:-Ruby

        Correct Answer:- Option-C

Question65:-Under the Sexual Harassment of Women at Workplace (Prevention,
Prohibition and Redressal) Act, 2013 "unorganised sector" in relation to a workplace
means an enterprise owned by individuals or self-employed workers and engaged
in the production or sale of goods or providing service of any kind whatsoever, and
where the enterprise employs workers, the number of such workers is less than

ப��ட��� ெப�க��� ஏ�ப�� பா�ய� �����த� (த���, தைட ம��� �வ���)

ச�ட�, 2013� �� "ஒ��கைம�க�படாத �ைற" எ�ப� ஒ� ப��ட��ட�

ெதாட��ைடய த�நப�க� அ�ல� �யெதா�� ெச��� ெதா�லாள�க��� ெசா�தமான

ம��� ெபா��கைள உ�ப�� அ�ல� ��பைன�� ஈ�ப���ள ��வன� அ�ல� எ�த

வைகயான ேசைவைய வழ��னா�� ம��� ��வன��� ெதா�லாள�கைள

ப�யம���னா�, அ�தைகய ெதா�லாள�க�� எ���ைக இத�� �ைறவாக உ�ள�.

        A:-20

        B:-10

        C:-25

        D:-50

        Correct Answer:- Option-B



Question66:-Under the Right to Information Act, the Chief Information
Commissioner and Information Commissioners of the Central Information
Commission shall be appointed by the President on the recommendation of a
committee consisting of

தகவ� அ��� உ�ைம� ச�ட��� ��, ம��ய தகவ� ஆைணய��� தைலைம� தகவ�

ஆைணய� ம��� தகவ� ஆைணய�க� அட��ய ம��ய தகவ� �� __________

ப���ைர�� ேப�� ��யர�� தைலவரா� �ய��க�ப�வா�க�.

        A:-The Prime Minister and the Council of Ministers

�ரதம� ம��� அைம�ச�க� ��

        B:-The Prime Minister, the Chief Justice of India and a Cabinet Minister

�ரமத�, இ��யா�� தைலைம ��ப� ம��� ஒ� ேக�ன� அைம�ச�

        C:-The Prime Minister, Leader of Opposition in the Lok Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister

�ரதம�, ம�களைவ எ���க��� தைலவ� ம��� �ரதமரா� ப���ைர�க�ப�ட

ஒ� ம��ய அைம�சரைவ அைம�ச�

        D:-The Prime Minister, Leader of Opposition in the Rajya Sabha and a Union
Cabinet Minister to be nominated by the Prime Minister

�ரதம�, ரா�யசபா�� எ���க��� தைலவ� ம��� �ரதமரா� ப���ைர�க�ப�ட

ஒ� ம��ய அைம�சரைவ அைம�ச�

        Correct Answer:- Option-C

Question67:-'Stipulated time limit' under the Kerala State Right to Service Act, 2012
means

ேகரள மா�ல ேசைவ உ�ைம� ச�ட�, 2012 இ� �� ��ண��க�ப�ட கால வர�� எ�ப�

        A:-The maximum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service.

�ய��க�ப�ட அ�கா�யா� ேசைவைய வழ�க அ�ல� அ�தைகய ேசைவ�கான

��ண�ப�ைத அ��ற�ப��த, ��� 3 இ� �� அ���க�ப�ட அ�கப�ச கால வர��

        B:-The minimum time limit notified under section 3 to provide the service by
the designated officer or to dispose of an application for such service.

�ய��க�ப�ட அ�கா�யா� ேசைவைய வழ�க அ�ல� அ�தைகய ேசைவ�கான

��ண�ப�ைத அ��ற�ப��த, ��� 3 இ� �� அ���க�ப�ட  �ைற�தப�ச கால

வர��

        C:-30 days from the date of application

��ண���த நா����� 30 நா�க�

        D:-60 days from the date of application

��ண���த நா����� 60 நா�க�



        Correct Answer:- Option-A

Question68:-The Chairman and every other Member of the Central Administrative
Tribunal shall be appointed by the President of India after consultation with

ம��ய ��வாக ���பாய��� தைலவ� ம��� ம�ற ஒ�ெவா� உ���ன�� இ��ய�

��யர�� தைலவரா� __________உட� கல�தாேலா��த �ற� �ய��க�ப�வா�க�.

        A:-The Prime Minister

�ரதம�

        B:-The Vice President

�ைண� தைலவ�

        C:-The Attorney General of India

இ��யா�� அ�ட�� ெஜனர�

        D:-The Chief Justice of India

இ��ய தைலைம ��ப�

        Correct Answer:- Option-D

Question69:-Under the Maintenance and Welfare of parents and Senior Citizens Act,
2007, the application for maintenance may be made

ெப�ேறா� ம��� ��த ��ம�க�� பராம��� ம��� நல� ச�ட�, 2007� ��

பராம���  ��ண�ப� ________ ெச�ய�படலா�.

        A:-By the Senior Citizen

��த ��மக� �ல�

        B:-By a Parent

ெப�ேறாரா�

        C:-An Organisation authorised in this behalf

இத� சா�பாக அ��க��க�ப�ட ஒ� அைம�பா�

        D:-All the above

ேமேல உ�ள அைன���

        Correct Answer:- Option-D

Question70:-Who is presently the Chairperson of the National Human Rights
Commission, India?

த�ேபாைதய இ��ய ேத�ய ம�த உ�ைமக� ஆைணய��� தைலவ� யா�?

        A:-Justice Ranganath Misra

��ப� ர�கநா� ��ரா

        B:-Justice Arun Kumar Mishra

��ப� அ�� �மா� ��ரா

        C:-Justice H.L. Dattu



��ப� H.L. த��

        D:-Justice S.A. Bobde

��ப� S.A. பா�ேட

        Correct Answer:- Option-B

Question71:-In a furniture showroom, a chair for sale is marked with a label price at
25% discount on its printed price. In June, the showroom offers a 10% winter offer
on the label price. A customor bought the chair for Rs. 810. What is the printed
price of the chair?

ஒ� ஃப���ச� ேஷா���, ஒ� நா�கா� ��பைன�� அத� அ��ட�ப�ட �ைல��

25% த��ப��� ேல�� �ைல�� ���க�ப���ள�. ஜூ� மாத���, ேஷா��

ேல�� �ைல�� 10% ���கால ச�ைகைய வழ���ற�. ஒ� வா��ைகயாள�

நா�கா�ைய �. 810�� வா��னா�. நா�கா��� அ��ட�ப�ட �ைல எ�ன?

        A:-900

        B:-1,200

        C:-950

        D:-1,250

        Correct Answer:- Option-B

Question72:-Starting from a place A, Ramu walks 200m towards north then turns
towards right and walks 100m. After that he turns right and walks 80m, then turns
right and walks 50m. The current position of Ramu with respect to A is

ஒ� இட�, A����� ெதாட�� ரா� வட�� ேநா�� 200 � நட�� �ற� வல� ப�க�

���� 100 � நட��றா�. அத� �ற� வல� ப�க� ���� 80 � நட��, வல� ப�க�

���� 50 � நட��றா�. Aைவ� ெபா��தவைர ரா��� த�ேபாைதய �ைல

        A:-120m towards North East

வட�ழ�� ேநா�� 120 �

        B:-120m towards South West

ெத�ேம�� ேநா�� 120 �

        C:-130m towards North East

வட�ழ�� ேநா�� 130 �

        D:-130m towards South West

ெத�ேம�� ேநா�� 130 �

        Correct Answer:- Option-C

Question73:-The value of  is –



 -� ம���

        A:-–

        B:-1

        C:-2

        D:-–2

        Correct Answer:- Option-D

Question74:-Find the odd among the following :

��வ�வனவ��� ெபா��தாதைத� க�ட�ய�� :

        A:-TUNISIA

        B:-SENEGAL

        C:-DENMARK

        D:-NAIROBI

        Correct Answer:- Option-D

Question75:-If , then the value of x is

 எ�� x-� ம���

        A:-.5

        B:-1

        C:-2

        D:-3

        Correct Answer:- Option-C

Question76:-A clock loses 30 seconds in each hour. If the clock is set right time at
12 noon on Sunday, what angle will the hour needle and minute needle make each
other at midnight on the same day?

ஒ� க�கார� ஒ�ெவா� ம� ேநர���� 30 �னா�கைள இழ��ற�. ஞா�����ழைம

ம�ய� 12 ம��� க�கார� ச�யான ேநர��� அைம�க�ப�டா�, அேத நா��

ந��ர�� ம�ேநர ஊ��� ��ட ஊ��� ஒ�ைறெயா�� எ�த ேகாண�ைத

உ�வா���?

        A:-36°

        B:-33°

        C:-30°

        D:-72°

        Correct Answer:- Option-B

Question77:-Let p and q be two positive integers. The HCF of p and q is 16 and the
LCM of p and q is 143 times HCF of p and q. If one number lies between 100 and
200, then the sum of the digits of the other number is



p ம��� q இர�� ேந�மைற �� எ�களாக இ��க���. p ம��� q இ� �.ெபா.வ. 16

ம��� p ம��� q இ� �.�.ம. ஆன� p ம��� q இ� �.ெபா.வ.�� 143 மட�� ஆ��.

ஒ� எ� 100 ம��� 200 �� இைட�� இ��தா�, ம�ற எ��� இல�க�க��

����ெதாைக

        A:-5

        B:-10

        C:-12

        D:-14

        Correct Answer:- Option-B

Question78:-Select the related letters which replace the question mark from the
given alternatives.
FJM : HFS; DKN:?

ெகா��க�ப�ட மா��க�� இ��� ேக�����ைய மா��� ெதாட��ைடய

எ����கைள� ேத��ெத��க��.

FJM : HFS; DKN:?

        A:-FGT

        B:-FDS

        C:-FHS

        D:-FFT

        Correct Answer:- Option-A

Question79:-Malala has twice as many brothers as she has sisters. The number of
sisters of Majeed, brother of Malala, is one less than the number of brothers he has.
The number of sisters of Malala is

மலாலா��� சேகாத�கைள �ட இர�� மட�� சேகாதர�க� உ�ளன�. மலாலா��

சேகாதர� ம���� சேகாத�க�� எ���ைக அவ��� இ���� சேகாதர�க��

எ���ைகைய �ட ஒ�� �ைற�. மலாலா�� சேகாத�க�� எ���ைக

        A:-3

        B:-4

        C:-5

        D:-6

        Correct Answer:- Option-A

Question80:-A right circular cone is cut with a plane parallel to its base into a small
cone and a frustum having their heights in the ratio 2 : 1. Then the ratio of the
volume of small cone to the volume of frustum is

ஒ� வல� வ�ட� ��� அத� அ��ப���� இைணயாக ஒ� ��ய ��பாக��, 2 : 1

எ�ற ��த��� அவ��� உயர�கைள� ெகா�ட ஒ� frustum ஆக��



ெவ�ட�ப��ற�. ��ன� ��ய ���  கன அள� ம��� frustum கன அள� ��த�

        A:-19 : 8

        B:-8 : 27

        C:-27 : 8

        D:-8 : 19

        Correct Answer:- Option-D

Question81:-Fill up with suitable preposition
It is fruitless to lament ______ our tragedies.

        A:-On

        B:-Over

        C:-Through

        D:-With

        Correct Answer:- Option-B

Question82:-Correct the sentence.
I (complete) my homework before my parents arrived.

        A:-Completed

        B:-Have completed

        C:-Had completed

        D:-Have been completed

        Correct Answer:- Option-C

Question83:- He was lucky ______ before the accident.

        A:-saving

        B:-to have saved

        C:-to save

        D:-to have been saved

        Correct Answer:- Option-D

Question84:-Suresh is _______ (skillful) in this work than his friend Karthik.

        A:-More skillful

        B:-has skillful

        C:-most skillful

        D:-has been skillful

        Correct Answer:- Option-A

Question85:-Add suitable question tag.
She barely spoke to Ramesh during the lunchtime, _____? 

        A:-will she?

        B:-did she?



        C:-didn't she

        D:-doesn't she?

        Correct Answer:- Option-B

Question86:-They know him. (Change into passive form)

        A:-He was known to them.

        B:-He is known to them.

        C:-He has been known to them.

        D:-He had been known to them.

        Correct Answer:- Option-B

Question87:-The word that is the synonym of 'prudent' is _____.

        A:-dispel

        B:-discredit

        C:-discreet

        D:-distinct

        Correct Answer:- Option-C

Question88:-The word that is the antonym of 'acquit' is _____.

        A:-condemn

        B:-conceal

        C:-concur

        D:-confabulate

        Correct Answer:- Option-A

Question89:-Find out the correctly spelt word

        A:-Enterpreneur

        B:-Entrepreneur

        C:-Enterprenure

        D:-Entrepreneaur

        Correct Answer:- Option-B

Question90:-Provide one-word substitute for the following.
One who is regaining his health after an illness

        A:-Cosmopolitan

        B:-Connoisseur

        C:-Cynic

        D:-Convalescent

        Correct Answer:- Option-D

Question91:-'�' எ�� ஓெர��� ஒ� ெமா� உண���� ெபா��



        A:-����

        B:-ெவ�ைம

        C:-எ����

        D:-உ��த�

        Correct Answer:- Option-B

Question92:-ச�யான எ��� ெசா�கைள� ���க

        A:-பக�� × எ�ைம

        B:-இ�ய × அழ�ய

        C:-வ�ைம × ஆரவார�

        D:-இய�ைக × ��ைம

        Correct Answer:- Option-A

Question93:-ேசா� + பாைன - ேச��� எ��க

        A:-ேசா�பாைன

        B:-ேசா�பாைன

        C:-ேசா�பாைன

        D:-ேசா���பாைன

        Correct Answer:- Option-D

Question94:-ஆ�பாைல�  ����� ெசா�

        A:-ெப�மா��

        B:-ெப�ய�

        C:-உ�தம�

        D:-பா��

        Correct Answer:- Option-C

Question95:-���� எ��க - அ�க�

        A:-அ + க�

        B:-அ� + க�



        C:-அ�த + க�

        D:-அ�� + க�

        Correct Answer:- Option-B

Question96:-'ப�வ�ேத ப�� ெச�' எ��� பழெமா� உண���� ெபா��

        A:-ப�வ வய�ேல ப��� ெதா�� ெச�க

        B:-��ய வய�ன� ப��� ெதா�� ெச�ய��டா�

        C:-ப�வமைட�த ெப�க� ப���ெதா�� ெச�க

        D:-உ�ய கால��� எ�த� ெசயைல�� ெச�க

        Correct Answer:- Option-D

Question97:-ஒ�ைம ப�ைம ச�யாக உ�ள ெதாடைர� க�����க

        A:-இ��ய அ� ேபா���� ெவ�றன�

        B:-இ��ய அ� ேபா���� ெவ�றா�க�

        C:-இ��யஅ� ேபா���� ெவ�ற�

        D:-இ��ய அ� ேபா���� ெவ�றன

        Correct Answer:- Option-C

Question98:-'ேவழ�' எ�ற ெசா�ேலா� ெபா��தாத வா��ைத எ�?

        A:-ேவத�

        B:-����

        C:-ெப�ய யாைன

        D:-க���

        Correct Answer:- Option-A

Question99:-���க�டவ��� எ� �ைறயான ெதாட�

        A:-த�ழ� ப�பா��� த��த வாைழ இைல�� இட���

        B:-த�ழ� வாைழ இைல��� ப�பா��� த��த இட���

        C:-த�ழ� ப�பா��� வாைழ இைல��� த��த இட���

        D:-த�ழ� வாைழ ப�பா��� த��த இைல�� இட���



        Correct Answer:- Option-C

Question100:-���கா�� ெதாட�� ச�யான ெசா�ைல இ�� �ர��க

கா��� ��ைய� க�ட க�ண� மன�� _________ ஏ�ப�ட�.

        A:-க�

        B:-��

        C:-��

        D:-��

        Correct Answer:- Option-D


